wopnpg o4 | €A AERE A SE L 2NN | 71 el ke A
A | AR | A
34 10,830,960 108,263,205 119,094,165
A2 10,830,960 106,802,647 117,633,607
FolL 2T TS 9,904,799 101,018,153 110,922,952
E-qE5EER Y 1,423,740 7,058,032 8,481,772
ENnSEA G 1,325,640 33,630 1,359,270
R B o e R 1,325,640 19,968 1,345,608
1. EA=nsx4 1,325,640 19,968 1,345,608
7}, AT (A a]) =Y 1,325,640 1,325,640
1) 4219 130,880 130,880
7H &4 620—03 |41,560,0009= 41,560 41,560
) A 620—10 |89,320,0009= 89,320 89,320
2) x5stw 610,920 610,920
7hH =3 610—01 |17,280,0009= 17,280 17,280
) 29 620—03 |593,640,000¢= 593,640 593,640
3) F8ti 301,200 301,200
7H 39 620—03 |243,560,000¢= 243,560 243,560
) AHY 620—10 |57,640,0009= 57,640 57,640
4) 153t 276,360 276,360
7H ¥4 620-03 |158,880,000¢= 158,880 158,880
) A 620—10 |117,480,0009= 117,480 117,480
5) E<8ta 620-03 |6,280,0009= 6,280 6,280
ASw Szt 98,100 2,066,464 2,164,564
St A S A A A A 98,100 1,519,118 1,617,218
1. A S A A BT 98,100 1,519,118 1,617,218
7F AEAT=FHAG w AN AHH] | 620-04 |98,100,0008 x 12 = 98,100 98,100
RA/FA/H$8% 255,438 3,442,751 3,698,189
FA3Y 255,438 3,390,399 3,645,837
sty g4 SR NA 255,438 3,367,351 3,622,789
\1. St FA 7| FUA| A g = 255,438 3,367,351 3,622,789
7V =3 FA 7 T2 A 214,941 1,163,514 1,378,455
1) =253t 620-04 463,402,0009 — <7174>346,460,0004 = 116,942 346,460 463,402
. 2) T8 w 39,889 210,647 250,536




TR S A A (o] - 3 €)

a ] A Apeluel R 2 e 23R | 713 el & A
F | AR

7H 9 620—-04 |174,859,000€ — <714>134,970,000¢= 39,889 134,970 174,859

3) 158w 13,135 225,453 238,588

7hH ¥ 620—-04 |114,953,000€ — <714>104,178,0009 = 10,775 104,178 114,953

) A 620—-11 |123,635,0009 — <714>121,275,0009 = 2,360 121,275 123,635

4) 55 620—-04 99,166,000 — <71%>54,191,0009 = 44,975 54,191 99,166

U, F2AA A 3} 40,497 2,140,294 2,180,791

1) obgf&xr g dyln) 2 v d 7 12,360 12,360

7h) A)Adn] 620—03 |12,360,000¢ x 14 = 12,360 12,360

2) SR YR AHHAANEAITFA~AHE 15,510 15,510

7H A4 H] 620—03 |15,510,000¢ x 14 = 15,510 15,510

3) BAEFA A DA EA 12,627 12,627

7H A1 A H] 620—03 |12,627,000¢ x 14 = 12,627 12,627

2 A #z 1,746,054 32,592,797 34,338,851

3w gH| XY 1,591,319 21,947,589 23,538,908

StwL-gu| X ¢ 1,591,319 21,947,589 23,538,908

1. 7| 2-2-9H) 1,256,374 21,845,739 23,102,113

7]._ _Pr;‘(]% 620—-02 |2,102,754,000¢ — <7]1%>2,019,274,000¢= 83,480 2,019,274 2,102,754

1,]_' z%@'—ﬂ 620—02 [14,680,777,0009¥ — <7]17%>13,856,390,000¢ = 824,387 13,856,390 14,680,777

t}. Z&w 620—-02 |6,318,582,000¢ — <71%>5,970,075,00091 = 348,507 5,970,075 6,318,582

2. & 7|ele9u) x4 334,945 101,850 436,795

7} wEskGol A A 334,945 101,850 436,795

1) 2538t 620—04 |242,054,0009 — <717%>81,850,000¢1 = 160,204 81,850 242,054

2) = 62004 |163,806,0009 — <7174>20,000,0004 = 143,806 20,000 163,806

3) 58kl 620-04 |30,935,0009 X 17} L= 30,935 30,935

AY8HA A R 154,735 10,645,208 10,799,943

LA A3¢R Y 154,735 1,590,858 1,745,593

‘1, SYuAFAT R Z 87,458 1,532,779 1,620,237

7}, w7 B8] 620—09 |1,620,237,0009 — <71%>1,532,779,000¢1= 87,458 1,532,779 1,620,237

‘2_ AP w7 e R g 67,277 58,079 125,356

7} nrskg ol AN A 67,277 58,079 125,356

{ 1) =8 620—11 |82,060,000¢ — <7]%>14,783,0009= 67,277 14,783 82,060

AZANAAA 6,479,567 30,735,006 37,214,573




7|8 AlEZ5 UG A
7139 - AgE EA S X9 (2] = 9
74 o) 1=

gopzg 22| B3| 2% NESIE == BERE 2AFAE | AFeltel | g A
SHAY w2 A A 1,980,325 1,372,426 3,352,751
st AlSA 1,980,325 1,372,426 3,352,751
1. 8324 1,980,325 1,372,426 3,352,751
7F Ak AL 1,980,325 1,980,325
1) A A 420-02 |1,899,557,0009 x 3.8519%= 73,170 73,170
2) Al%dn] 1,899,557 1,899,557
7h EdEenddy 420-03 |20,170,0009 x 44 = 80,680 80,680
) BaEA7]01A 420-03 10,000,000 x 14 = 10,000 10,000
) SHFHEESH 420-03 |2,420,0009 x 224 = 4,840 4,840
2h) AT Ed 420-03 |1,804,037,0009 x12]= 1,804,037 1,804,037
3) A F-ov] 420-05 |1,899,557,0009 X 0.4%= 7,598 7,598
sy ARkA| A 72,832 1,686,334 1,759,166
S aAEAZAE 72,832 1,686,334 1,759,166
1. 3aAA 72,832 0 72,832
7} gslstn TS 72,832 72,832
1) A AN 420-02 |68,060,0009 x7.011%= 4,772 4,772
2) A]AdH] 420-03 [68,060,0009 x 124 = 68,060 68,060
ISR FMNANA 4,426,410 27,676,246 32,102,656
St A S NA 4,426,410 27,676,246 32,102,656
1. LA A 2,145,858 16,727,027 18,872,885
7}, vbg RS- 30,000 1,706,424 1,736,424
1) Al4dn] 30,000 1,639,360 1,669,360
7hH TAR EF 620-04 | 11,950,000¢1 X 2.51044 = 30,000 30,000
(B 453,100 1,992,659 2,445,759
1) A4dH] 453,100 1,921,341 2,374,441
71 AR (ETE) 420-03 19,850,000¢ x 74 = 68,950 68,950
) FAb A () 420-03 19,850,0009 x 84 = 78,800 78,800
o} A A% (E ) 420-03 |9,850,000¢1 x 114 = 108,350 108,350
g2h) FAE (23 420-03 9,850,000 x 134 = 128,050 128,050
up) FAHE 9 420-03 9,850,000 x 74 = 68,950 68,950
= ] R S| 470,968 3,746,871 4,217,839
1) AAn] 420-02 |25,138,0009 x 14 = 25,138 25,138
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7|8 AlEZ5 UG A
7187 SR ETALSA 93 (29 - ¥
Z o) 1=
gopzg 22| B3| 2% IR == A %A | AFelrl | g A
2) A|Adn] 445,830 3,640,945 4,086,775
7H &% 420-03 121,230,000 x 94 = 191,070 191,070
W) AR (71454 420-03 |21,230,0009 x 124 = 254,760 254,760
o}, e a8 151,942 787,280 939,222
1) Al4dn] 151,942 750,986 902,928
7H &% 420-03 13,450,000 x 44 = 53,800 53,800
W) FUER(EANEE) 420-03 |20,000,000¢ x 14 = 20,000 20,000
o) AR & 420-03 |13,450,0009 x 42 = 53,800 53,800
) FARE = 420-03 [16,228,0009 x1.54= 24,342 24,342
af, A BB 374,870 562,151 937,021
1) A1AH] 374,870 534,060 908,930
7H W&z 420-03 119,730,000 x 94 = 177,570 177,570
W) 282 (EH) 420-03 |19,730,0009 X 104 = 197,300 197,300
vl 71 EF 664,978 1,375,927 2,040,905
1) A (vpgd) 420-02 |17,738,0009 x 14 = 17,738 17,738
2) A 4n) 647,240 1,296,370 1,943,610
7h U =z vk e A 420-03 30,000,000 X 12]= 30,000 30,000
W) A S 2 AE AR D EE w5 620-04 |20,000,0009 x 14] = 20,000 20,000
o} FAME pHredE A (7]:7/&}) 420-03 |11,060,0009 x 142 = 154,840 154,840
2h) A5 e sro] mubeEhh ik w A (F7] 44 420-03 |11,060,0009 x 404 = 442,400 442,400
2. A2 tA A 980,252 3,242,787 4,223,039
7F A () A 20,220 1,070,248 1,090,468
1) AN 20,220 1,023,720 1,043,940
7Hh WEx 420-03 |20,220,0009 x 14 = 20,220 20,220
L, ZEo|H| E n A 64,912 240,750 305,662
1) Al4dn] 64,912 227,192 292,104
7H Ak 420-03 |16,228,0009 x 44 = 64,912 64,912
ot =1 7 895,120 699,033 1,594,153
1) A1AH] 895,120 665,348 1,560,468
7H 2= 420-03 [16,288,0009 x 64 = 97,728 97,728
) dAakei 420-03 |16,288,0009 x 114 = 179,168 179,168
o FAbE 420-03 16,228,000 x 124 = 194,736 194,736
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R ST R s (F - 1Y)
o) 1=

oA AERE %A % A e L E EEE R

2 FAMg g et () 420-03 |16,288,0009 x 24 = 32,576 32,576

ul) FAarg et w (H ) 420-03 |16,288,0009 x 244 = 390,912 390,912

3. YRR MNA 771,140 2,790,696 3,561,836

7h % 210,560 275,608 486,168

1) Al4dn] 210,560 275,608 186,168

hH FEx 420-03 [376,0009 X 210m= 78,960 78,960

W) = 420-03 |376,0009 X 250m= 94,000 94,000

o A AL 420-03 |376,0009 X 100m= 37,600 37,600

(BRIt 73,370 593,620 666,990

1) A1AH] 73,370 571,010 644,380

7hH FAbE = 420-03 |319,0009 X 130m= 41,470 41,470

) AR 420-03 |319,000€ X 100m= 31,900 31,900

o}, E A 342,660 1,115,058 1,457,718

1) Al7dn] 342,660 1,070,100 1,412,760

7hH FAbE = 420-03 98,0009 % 1,300m'= 127,400 127,400

W) 33z 420-03 98,0009 X 670m'= 65,660 65,660

o Ak 420-03 88,0009 x1,700m' = 149,600 149,600

g AddET 99,550 70,590 170,140

1) A1AH] 99,550 70,590 170,140

7H gz 420-03 [1,810,000€9 X 30m= 54,300 54,300

W) AT 420-03 |1,810,0009¢ X 25m= 45,250 45,250

v}, 7] e} 45,000 378,181 423,181

1) A1AH] 45,000 378,181 423,181

71 AR 3L (5 ok e f ) | 620-03 |1,500,0004 X 30m= 45,000 45,000

4. A7|A AN 204,640 972,302 1,176,942

7} 2 A4 (LED) 4,640 448,447 453,087

1) A1AH] 4,640 425,360 430,000

7H WEx 420-03 [4,640,0009 x 14 = 4,640 4,640

U Az A E A 50,000 366,445 416,445

1) Al4dn] 50,000 350,000 400,000

71 FAE 3k 420—-03 [50,000,0009 x 14 = 50,000 50,000

o} R AA AN A 60,000 157,410 217,410

W = St FAANAAE - WS BANIAE - AL SN 5




7|88 AlE4E WA
R At N ST S DR (F9 : 44
2 o 1=]
gopzg 22| B3| 2% Aol %A ENE ARG | g | g
1) A]AdH] 60,000 157,410 217,410
7H HAFs % 420-03 |60,000,000¢ x 14]= 60,000 60,000
g}, 7] e} 90,000 90,000
1) AlAH) 90,000 90,000
7h Az (HSBIEF) 420—-03 6,000,000 X 57 2= 30,000 30,000
W) S (72 S) 420-03 6,000,000 X 57 2= 30,000 30,000
th) FEAAFFE (SR S) 420-03 16,000,000 X 57 2= 30,000 30,000
5. AAAUAET S 332 139,200 0 139,200
7F =2 E A 139,200 139,200
1) A1) 139,200 139,200
H FEx 620—04 |1,200,0009 x 204 = 24,000 24,000
) FAbelE] & x 620-04 |1,200,0009 X382 = 45,600 45,600
) A S 620—04 |1,200,0009 x 294 = 34,800 34,800
h A& Qo] 620—04 |1,200,0009 x 24 = 2,400 2,400
ub) A 3} ek 620—04 1,200,000 x 274 = 32,400 32,400
6. SAAMNA 185,320 1,813,862 1,999,182
7}, 3pRA A 185,320 1,024,862 1,210,182
1) Al4dH] 185,320 981,600 1,166,920
7H HAME % 420-03 192,660,0009 x 221 = 185,320 185,320
nSgdt 926,161 5,626,909 6,553,070
ITEPF L 411,661 5,101,775 5,513,436
A F-# = 411,661 364,524 776,185
T SAANEZ T 411,661 364,524 776,185
1. FFFAALE= 339,089 8,820 347,909
7). Zekn) 339,089 339,089
1) =58 620—03 |258,514,0009 = 258,514 258,514
2) T 620—03 |80,575,0009= 80,575 80,575
2. 7587 72,572 21,593 94,165
7F 258k 620—03 |75,670,0009 — <71%>14,998,000¢= 60,672 14,998 75,670
L, Z8w 620—03 9,480,000 = 9,480 9,480
o} H o 210-01 9,015,0009 — <717>6,595,0008 = 2,420 6,595 9,015
PAE X FOkey 514,500 525,134 1,039,634
WS - WHAT - 7] B e




<7 =
718 A& e A
AR R I R S e R e (2]« 79
A 2 w2 Al = )5 2
BHFE 0 N | ate Abd B—A Az o 253NN | 71l akey 37
ASHA 7| BA A 514,500 514,500
RSP 514,500 514,500
1. ZSA LA A 514,500 514,500
7b. mEA DA A 454,500 454,500
1) A2H] 454,500 454,500
7hH FHAAA 420—-03 |60,000,0009 x 14 = 60,000 60,000
W) w2 420-03 319,00049 X 300m= 95,700 95,700
) % 420—-03 |332,000€ X 900m' = 298,800 298,800
L 42 S AE A A 60,000 60,000
1) AW 60,000 60,000
71 FHA A 420—-03 60,000,000 x 14]= 60,000 60,000
W - SN - 7| HG Y - APV HAA - B SA LG B




